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Заключительный этап по английскому языку 

5-8 классы 

КЛЮЧИ 
Блок 1. ВСЕГО 35 баллов  

 

1.  
 

1. There were 

2. Caesar and his men fought 

3. Some 

4. The River Thames was important 

5. The name ‘London’ comes 

 

2.  
 

1. little 

2. should 

3. much 

4. either 

5. how 

6. made 

7. every 

8. lot 

9. whenever 

10. going 

 

3.  

 

1. b) civilised     

2. c) were called 

3. a) to be  

4. c) However   

5. a) than 

6. b) the 

7. c) some 

8. b) to be known 

9. a) up 

10. b) with 

 

4.  

 

1. other 

2. biggest 

3. eldest 

4. these 

5. was covered 

6. nowhere 

7. laid 

8. mice 

9. with 

10. than 
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Блок 2.  

 

1. ВСЕГО 10 баллов 

1. Readers love this story of a young wizard’s first year at Hogwarts School. 

2. One of these people is film maker David Heyman. 

3. He wants to make a film of J. K. Rowlings book and he starts to talk to writers and directors. 

4. Their mothers and fathers love the stories, too; 40% of J. K. Rowling’s readers are not children. 

5. There is a lot of money for the film of the first Harry Potter book ... but no Harry Potter. 

6. A lot of young actors have auditions for the part, but the film makers can’t find the right child. 

7. There is a family behind them - the Radcliffes, with their son, Daniel. 

8. Then he has an audition for the part of Harry Potter. 

9. Then they telephone him - Dan has the job. 

10. He is very happy and doesn’t sleep well that night. 

 

2. ВСЕГО 15 баллов 

1. – 3 балла  

What conditions made the construction of massive monuments in prehistoric Britain possible?  

 

In the years after 2,500 BC, social life in Britain became more complex. The demand for new resources 

such as metals required more technical skills and more ambitious patterns of trade. The population and 

economy of Britain strengthened to a point where great amounts of time and energy could be spent on 

building large monuments. 

 

Содержание – 1 балл 

Грамматика – 1 балл (вычет 1 балл за 1 ошибку) 

Лексика – 1 балл (вычет 1 балл за 1 ошибку) 

Вычет 1 балл, если не уложились в рамки 17-20 слов 

Вычет 1 балл, если анализ содержит отрезки из текстов от 3 слов и более, заимствованных без 

изменений 

 

2. – 3 балла  

What are the presumable functions of henges in Britain?  

 The purpose of Stonehenge is unknown and may have changed during the twelve hundred years that it 

took for the henge to reach its final form. However, its connection to the midsummer sunrise and 

midwinter sunset as well as to an eighteen-year lunar cycle has led many to suggest a religious or astro-

calendrical function. 

 Remains of human bodies at henge sites suggest that they were religious locations. 

 

Содержание – 1 балл 

Грамматика – 1 балл (вычет 1 балл за 1 ошибку) 

Лексика – 1 балл (вычет 1 балл за 1 ошибку) 

Вычет 1 балл, если не уложились в рамки 17-20 слов 

Вычет 1 балл, если анализ содержит отрезки из текстов от 3 слов и более, заимствованных без 

изменений 

 

3. – 3 балла  

Why can’t Stonehenge be considered a primitive and unplanned construction? 

 finely shaped stones 

 Stonehenge’s builders even understood the importance of an architectural technique – creating a slight 

outward curve in the upright stones to avoid a visual illusion of falling that a straight stone would have 

given.  

 … stone circles were great in number, with over a hundred in Aberdeenshire alone. It suggests that the 

communities of prehistoric Britain now possessed unprecedented skills of leadership and organization. 

 

Содержание – 1 балл 

Грамматика – 1 балл (вычет 1 балл за 1 ошибку) 
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Лексика – 1 балл (вычет 1 балл за 1 ошибку) 

Вычет 1 балл, если не уложились в рамки 17-20 слов 

Вычет 1 балл, если анализ содержит отрезки из текстов от 3 слов и более, заимствованных без 

изменений 

 

 

4. – 6 баллов  

How can the knowledge about prehistoric or ancient times be beneficial to modern society? 

 

Содержание – 2 балла (2 балла – интересный, аргументированный и глубокий ответ, 1 балл – 

аргументированный, но поверхностный ответ, 0 балла – вопрос не раскрыт). 

Грамматика – 2 балла (вычет 1 балл за 1 ошибку) 

Лексика – 2 балла (вычет 1 балл за 1 ошибку) 

 

Вычет 1 балл, если не уложились в рамки 40-50 слов 

Вычет 1 балл, если анализ содержит отрезки из текста от 3 слов и более, заимствованных без 

изменений 

 

 

Блок 3. Письмо – ВСЕГО 40 баллов 

  

 

Критерии оценки: 

Содержание, впечатление на читателя – 5 баллов 

Структура, связность, стиль, коммуникативная цель, формальные требования  – 5 баллов 

Грамматика – 20 баллов (вычет 2 балла за 1 ошибку; артикли, пунктуация и правописание – 1 

балл за 1 ошибку) 

Лексика – 10 баллов (вычет 2 балла за 1 ошибку) 

 

 Рекуррентные ошибки вычитываются один раз 

 Рассказ не соответствует теме – вычет 40 баллов (ответ далее не проверяется) 

Количество слов менее 120 – вычет 2 балла за каждые 10 слов


